Instructions:

ANSWER THE FOLLOWING QUESTIONS BY WRITING A COMPLETE AND CORRECT

CALCULATION.
162+ 18 = 2 [9282+34=

X | 1] 8 |18

118 |18 X134

2 | 2 |16 | 36 r | 814 5A

3|3 |24] 54 2|68 |68

« a2 m 3 | 9 | 12 102

s 5 [ %] 4 |12 | 16 | 136

6 | 6 |48 108 Sl B

7 | 7 | 56 | 126 6 |18 | 24 | 204

mE AR 7 | 21 | 28 | 238

s 8 [ 92 ie2 8 | 24 | 32 | 272
9 | 27 | 36 | 306
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51982+47 =
X | 4|7 |47
1|47 [a7
2 | 8 |14 94
3 [12]|21 14
4 |16 | 28 | 188
5 [ 2035|235
6 |24 42 282
7 |28 | 49 | 329
8 | 3256|376
9 | 36|63 423
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65369 +86 =

X 8 6 | 8

1 8 6 | 8

2 | 16 |22 | 172
3 | 24 | 18 | 258
4 | 32 | 24 | 344
5 | 40 | 30 | 430
6 | 48 | 36 | 516
7 | 56 | 42 | 602
8 | 64 | 48 | 688
9 | 72 | 54 | 774
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